
  



Q. 0, 6, 20, 42, ? 

(1)  76 

(2)  82 

(3)  81  

(4)  72  

  



Q. If 8 – 3 + 4 = 348, 9 – 6 + 8 = 689 

Then 5 – 9 + 6 = ? 

(1)  956 

(2)  659 

(3)  965 

(4)  596  

  



Q. If 882 = 20, 996 = 26 then 729 = ? 

(1)  21 

(2)  24 

(3)  30  

(4)  20  

  



Q. Find the odd 

 
(i)                                                                                 (ii)             (iii)           (iv) 

 

 

 



Q. A man is 24 year older than his son, After two year 

his age will be two times more than. Find tha age of 

his son. 

(1)  18 

(2)  14 

(3)  22 

(4)  20  

  



Q. How many square in this figure  

 
(1)  30 

(2)  31 

(3)  51 

(4)  50  

  



Q. Sparrow, Birds, Cat  

 
(i)                     (ii)                     (iii)               (iv)  



Q. If 526 = 9, 834 = 9 then 716 = ? 

(1)  12 

(2)  20 

(3)  15 

(4)  9  

  



63 7 9 
30 5 6 
20 4 ? 
(1)  20 

(2)  8 

(3)  3 

(4)  5 

  



Q. When both hands of clock coincide between 9 and 

10 o’clock? 

(1)  9 → 49 
1

11
 

(2)  9 → 42 
8

11
 

(3)  9 → 43 
7

11
 

(4)  9 → 22 
8

11
 

  



 
(1)  21, 23 

(2)  19, 23 

(3)  23, 27 

(4)  19, 21  

  



Q. 85 : 35 : : 77 : ? 

(1)  50 

(2)  49 

(3)  48 

(4)  44  

  



 
Q. How many triangle in this figure. 

(1)  32 

(2)  35 

(3)  37 

(4)  39  



Q. Put right option. 

24 × 34 × 2 × 5 × 12  

(1)  + + = × 

(2)  + ÷ × = 

(3)  = ÷ + - 

(4)  = ÷ - + 

  



Q. If 1 January 2011 = Monday 

21 February 2012 = ? 

(1)  Thursday  

(2)  Friday  

(3)  Saturday  

(4)  Sunday  

  



24 25 50 
24 20 10 
4 9 3 
12 5 ? 
(1)  15 

(2)   5 

(3)  10  

(4)  20 

  



 
(1)  40 

(2)  45 

(3)  30 

(4)  49  

  



Q. If 5 + 7 = 21, 9 + 4 = 31 

 Then 7 + 9 = ? 

(1)  61 

(2)  71 

(3)  41  

(4)  51  

  



Q. If 532 + 781 = 21,  

 862 + 910 = 21 then  

 796 + 355 = ? 

(1)  31 

(2)  22 

(3)  21 

(4)  30  

  



Q. If MAHI → EHJI 

MAN → EHD 

Then REKHA = ? 

(1)  IDGJH 

(2)  IGDJH  

(3)  JDGIH 

(4)  HJDGI  

  



 


